

**ON APPLICATION OF DECOMPOSITIONS OF THE KNOWN
TWO VARIABLE POLYNOMIALS TO GENERATING SOME
IDENTITIES OF TRIGONOMETRIC NATURE**

Roman Wituła¹ §, Edyta Hetmaniok², Alicja Wróbel³

^{1,2,3}Institute of Mathematics

Silesian University of Technology

Kaszubska 23, 44-100 Gliwice, POLAND

Abstract: In this paper certain decompositions of the Ma polynomials, classic Cauchy polynomials and Ferrers-Jackson polynomials are used to generating some identities of trigonometric nature. Moreover, the Authors discuss also some potential applications of these decompositions to generating some identities for general recurrence sequences of the second order.

AMS Subject Classification: 11B39, 12D05

Key Words: Cauchy polynomials, Ma polynomials, Ferrers-Jackson polynomials, trigonometric identities, recurrence sequences of the second order

1. Introduction

In papers [14, 15] the Authors have discussed the applications of the presented below polynomials:

Received: March 12, 2015

© 2015 Academic Publications, Ltd.
url: www.acadpubl.eu

§Correspondence author

– Ma Polynomials

$$\begin{aligned} M_n(x, y) &= (x + y)^n (x^n + y^n) + (-xy)^n = \\ &= \sum_{k=0}^{\lfloor n/3 \rfloor} (-1)^k \frac{n}{n-2k} \binom{n-2k}{k} (x^2 + xy + y^2)^{n-3k} (xy(x+y))^{2k}, \quad (1) \end{aligned}$$

– Cauchy polynomials

$$\begin{aligned} p_n(x, y) &:= (x + y)^{2n+1} - x^{2n+1} - y^{2n+1} = \\ &= \sum_{k=0}^{\lfloor (n-1)/3 \rfloor} \frac{2n+1}{n-k} \binom{n-k}{2k+1} (xy(x+y))^{2k+1} (x^2 + xy + y^2)^{n-1-3k} \quad (2) \end{aligned}$$

– Ferrers-Jackson polynomials

$$\begin{aligned} q_n(x, y) &:= (x + y)^{2n} + x^{2n} + y^{2n} = \\ &= \sum_{k=0}^{\lfloor n/3 \rfloor} \frac{2n}{n-k} \binom{n-k}{2k} (xy(x+y))^{2k} (x^2 + xy + y^2)^{n-3k}, \quad (3) \end{aligned}$$

and their decompositions to generating the limits of quotients of polynomials in two variables. Additionally, we note that Paolo Ribenboim in [8] has presented the other decompositions of two last polynomials (see chapter VII in [8]) together with their applications (for the solutions of some special cases of Fermat's Last Theorem).

Similarity of identity (1) to identities (2) and (3) is not a coincidence, the respective algebraic connections have been described in Theorem 1 of [14]. Among others, it has been proven there that

$$M_{2n+1}(x, y) = (x^{2n+1} + y^{2n+1})p_n(x, y) + x^{2(2n+1)} + (xy)^{2n+1} + y^{2(2n+1)}, \quad (4)$$

$$M_{2n}(x, y) = (x^{2n} + y^{2n})q_n(x, y) - x^{4n} - (xy)^{2n} - y^{4n}. \quad (5)$$

In this paper, in Sections 2 and 3 we focus on discussion concerning the application of formulae (1), (2) and (3) for generating the identities of trigonometric nature. Possibility of applying these formulae for elements of some selected recurrence sequences of the second order is also discussed here. Moreover, let us notice that these results essentially complete the Ma's paper [4] and paper [16], made by one of the Authors, where similar type identities have been applied for the powers of elements of some, so called, conjugate recurrence sequences.

2. Some trigonometric identities

In this section we will present some applications of identities (1), (2) and (3) in creating certain nonstandard trigonometric identities.

Setting $x = 4 \sin^2 \alpha$ and $y = 4 \cos^2 \alpha$ we can receive from (1), (2) and (3), respectively, the following trigonometric identities

$$\begin{aligned} \sin^{2n} \alpha + (-\sin^2 \alpha \cos^2 \alpha)^n + \cos^{2n} \alpha &= \\ &= \sum_{k=0}^{\lfloor n/3 \rfloor} (-1)^k \frac{n}{n-2k} \binom{n-2k}{k} (1 - \sin^2 \alpha \cos^2 \alpha)^{n-3k} (\sin \alpha \cos \alpha)^{4k}, \end{aligned}$$

$$\begin{aligned} 1 - \sin^{2(2n+1)} \alpha - \cos^{2(2n+1)} \alpha &= \\ &= \sum_{k=0}^{\lfloor (n-1)/3 \rfloor} \frac{2n+1}{n-k} \binom{n-k}{2k+1} (1 - \sin^2 \alpha \cos^2 \alpha)^{n-3k-1} (\sin \alpha \cos \alpha)^{4k+2}, \end{aligned}$$

$$\begin{aligned} 1 + \sin^{4n} \alpha + \cos^{4n} \alpha &= \\ &= \sum_{k=0}^{\lfloor n/3 \rfloor} \frac{2n}{n-k} \binom{n-k}{2k} (1 - \sin^2 \alpha \cos^2 \alpha)^{n-3k} (\sin \alpha \cos \alpha)^{4k}, \end{aligned}$$

or in equivalent form

$$\begin{aligned} 1 + (-\sin^2 \alpha)^n + \tan^{2n} \alpha &= \\ &= \sum_{k=0}^{\lfloor n/3 \rfloor} (-1)^k \frac{n}{n-2k} \binom{n-2k}{k} (1 + \sin^2 \alpha \tan^2 \alpha)^{n-3k} (\sin \alpha \tan \alpha)^{2k} \\ &= \sum_{k=0}^{\lfloor n/3 \rfloor} (-1)^k \frac{n}{n-2k} \binom{n-2k}{k} (1 - \sin^2 \alpha + \tan^2 \alpha)^{n-3k} (-\sin^2 \alpha + \tan^2 \alpha)^k, \end{aligned}$$

$$\begin{aligned} (1 + \tan^2 \alpha)^{2n+1} - 1 - \tan^{4n+2} \alpha &= \\ &= \sum_{k=0}^{\lfloor (n-1)/3 \rfloor} \frac{2n+1}{n-k} \binom{n-k}{2k+1} (1 + \sin^2 \alpha \tan^2 \alpha)^{n-3k-1} (\sin \alpha \tan \alpha)^{2k+1} \\ &= \sum_{k=0}^{\lfloor (n-1)/3 \rfloor} \frac{2n+1}{n-k} \binom{n-k}{2k+1} \cos^{2n-4k-1} \alpha (1 + \tan^2 \alpha + \tan^4 \alpha)^{n-3k-1} \tan^{4k+2} \alpha, \end{aligned}$$

$$\begin{aligned}
(1 + \tan^2 \alpha)^{2n} + 1 + \tan^{4n} \alpha &= \\
&= \sum_{k=0}^{\lfloor n/3 \rfloor} \frac{2n}{n-k} \binom{n-k}{2k} (1 + \sin^2 \alpha \tan^2 \alpha)^{n-3k} (\sin \alpha \tan \alpha)^{4k} \\
&= \sum_{k=0}^{\lfloor n/3 \rfloor} \frac{2n}{n-k} \binom{n-k}{2k} \cos^{2n-4k} \alpha (1 + \tan^2 \alpha + \tan^4 \alpha)^{n-3k} \tan^{4k} \alpha.
\end{aligned}$$

Taking now $x = 1$ and $y = e^{i\varphi}$ we obtain from (1) the identity

$$\begin{aligned}
2^{n+1} \left(\cos \frac{\varphi}{2} \right)^n \cos \frac{n\varphi}{2} + (-1)^n &= \\
&= \sum_{k=0}^{\lfloor n/3 \rfloor} (-1)^k \frac{n}{n-2k} \binom{n-2k}{k} (2 \cos \varphi + 1)^{n-3k} \left(2 \cos \frac{\varphi}{2} \right)^{2k}. \quad (6)
\end{aligned}$$

Hence we get, for example

– for $\varphi = \frac{\pi}{2}$:

$$2^{\frac{n+2}{2}} \cos \left(n \frac{\pi}{4} \right) + (-1)^n = (1 \pm i)^n (1 + (\pm i)^n) + (-1)^n = \sum_{k=0}^{\lfloor n/3 \rfloor} (-2)^k \frac{n}{n-2k} \binom{n-2k}{k},$$

– for $\varphi = \frac{\pi}{3}$:

$$2 \left(\frac{\sqrt{3}}{2} \right)^n \cos \left(n \frac{\pi}{6} \right) + \left(-\frac{1}{2} \right)^n = \sum_{k=0}^{\lfloor n/3 \rfloor} \frac{n}{n-2k} \binom{n-2k}{k} \left(-\frac{3}{8} \right)^k, \quad (7)$$

– for $\varphi = \frac{\pi}{4}$:

$$2 \left(\frac{\sqrt{2}}{1 + \sqrt{2}} \right)^{\frac{n}{2}} \cos \left(n \frac{\pi}{8} \right) + \left(-\frac{1}{1 + \sqrt{2}} \right)^n = \sum_{k=0}^{\lfloor n/3 \rfloor} \frac{n}{n-2k} \binom{n-2k}{k} \left(\frac{-\sqrt{2}}{(1 + \sqrt{2})^2} \right)^k.$$

In the same way, we receive from (3):

$$\begin{aligned}
\left(2 \cos \frac{\varphi}{2} \right)^{2n} + 2 \cos(n\varphi) &= \\
&= \sum_{k=0}^{\lfloor n/3 \rfloor} \frac{2n}{n-k} \binom{n-k}{2k} (2 \cos \varphi + 1)^{n-3k} \left(2 \cos \frac{\varphi}{2} \right)^{2k}. \quad (8)
\end{aligned}$$

From this we obtain, for example

– for $\varphi = \frac{\pi}{2}$:

$$2^{n-1} + \cos\left(n\frac{\pi}{2}\right) = \sum_{k=0}^{\lfloor n/3 \rfloor} \frac{n}{n-k} \binom{n-k}{2k} 2^k,$$

– for $\varphi = \frac{\pi}{3}$:

$$\frac{1}{2} \left(\frac{3}{2}\right)^n + \frac{1}{2^n} \cos\left(n\frac{\pi}{3}\right) = \sum_{k=0}^{\lfloor n/3 \rfloor} \frac{n}{n-k} \binom{n-k}{2k} \left(\frac{3}{8}\right)^k$$

(compare with formula (7)),

– for $\varphi = \frac{\pi}{4}$:

$$2^{\frac{n-2}{2}} + \frac{\cos(n\frac{\pi}{4})}{(1 + \sqrt{2})^n} = \sum_{k=0}^{\lfloor n/3 \rfloor} \frac{n}{n-k} \binom{n-k}{2k} \left(\frac{\sqrt{2}}{(1 + \sqrt{2})^2}\right)^k.$$

Remark 1. If we set in (1) and (3) $x = e^{i\alpha}$ and $y = e^{i\beta}$, then we deduce again the formulae (6) and (8), respectively, for $\varphi := \alpha - \beta$.

At last, if we take $x = \cos \varphi$ and $y = i \sin \varphi$ in (2), we get

$$\begin{aligned} e^{in\varphi} (\cos^n \varphi + (i \sin \varphi)^n) + \left(-\frac{i}{2} \sin 2\varphi\right)^n &= \\ &= \sum_{k=0}^{\lfloor n/3 \rfloor} \frac{n}{n-2k} \binom{n-2k}{k} \left(\cos 2\varphi + \frac{i}{2} \sin 2\varphi\right)^{n-3k} \left(\frac{1}{2} \sin 2\varphi\right)^{2k} e^{i2k\varphi}, \end{aligned}$$

since $i^{2k} = (-1)^k$. Hence we obtain

– for $\varphi = \frac{\pi}{4}$ (after some manipulations by using relations $e^{i\pi} = -1$ and $i = e^{i\pi/2}$):

$$\sum_{k=0}^{\lfloor n/3 \rfloor} \frac{n}{n-2k} \binom{n-2k}{k} (-2)^k = 2^{\frac{n}{2}+1} \cos\left(\frac{\pi}{4}n\right) + (-1)^n, \tag{9}$$

which implies

$$\sum_{k=1}^{\lfloor (4n+2)/3 \rfloor} \frac{2n+1}{2n+1-k} \binom{4n+2-2k}{k} (-2)^k = 0, \tag{10}$$

– for $\varphi = \frac{\pi}{3}$ and $n := 3n$:

$$\begin{aligned} (-8)^n \left(1 + \left(-i\sqrt{27} \right)^n \right) + \left(\sqrt{27}i \right)^n &= \\ = \sum_{k=0}^n \frac{3n}{3n-2k} \binom{3n-2k}{k} \left(10 + i9\sqrt{3} \right)^{n-k} \left(6 \left(-1 + i\sqrt{3} \right) \right)^k, \end{aligned} \tag{11}$$

which is a really attractive identity,

– for $\varphi = \frac{\pi}{8}$ we obtain the identities (see also [9, 12, 13]):

$$\begin{aligned} \left(2\sqrt{2} \right)^n e^{i\frac{\pi}{8}n} \left(\cos^n \frac{\pi}{8} + i^n \sin^n \frac{\pi}{8} \right) + (-i)^n &= \\ = \sum_{k=0}^{\lfloor n/3 \rfloor} \frac{n}{n-2k} \binom{n-2k}{k} 2^{3k/2} (2+i)^{n-3k} e^{i\frac{\pi}{4}k} \end{aligned} \tag{12}$$

and

$$\left(2\sqrt{2} \right)^n e^{i\frac{\pi}{8}n} = \left(\sqrt{4+2\sqrt{2}} + i\sqrt{4-2\sqrt{2}} \right)^n,$$

since $\cos \frac{\pi}{8} = \frac{1}{2}\sqrt{2+\sqrt{2}}$, $\sin \frac{\pi}{8} = \frac{1}{2}\sqrt{2-\sqrt{2}}$.

Remark 2. Identity (12) suggests, however false, supposition that either $\cos \frac{\pi}{8} \in \mathbb{Q}(\sqrt{2})$ or $\sin \frac{\pi}{8} \in \mathbb{Q}(\sqrt{2})$.

Similarly, we observe that neither $\cos \frac{\pi}{2^{n+1}} \in \mathbb{Q} \left(\cos \frac{\pi}{2^n}, \sin \frac{\pi}{2^n} \right)$ nor $\sin \frac{\pi}{2^{n+1}} \in \mathbb{Q} \left(\cos \frac{\pi}{2^n}, \sin \frac{\pi}{2^n} \right)$, which easily follows from identities $\cos 2\alpha = 2\cos^2 \alpha - 1 = 1 - 2\sin^2 \alpha$. More precisely, the minimal polynomials of $\cos \frac{\pi}{2^n}$ and $\sin \frac{\pi}{2^n}$ possess the degree equal to 2^{n-1} (see papers [1, 11], for additional discussion see also papers [3, 5, 6]).

3. Applications to the recurrence sequences

Identities (1), (2) and (3) can be successfully applied for the successive elements of the following linear recurrence sequence of second order (more precisely, for $x = aR_n$, $y = bR_{n-1}$):

$$\begin{aligned} R_0, R_1 &\in \mathbb{C}, \\ R_{n+1} &= aR_n + bR_{n-1}, \quad n = 1, 2, \dots, \end{aligned} \tag{13}$$

where $a, b \in \mathbb{C}$. Certainly, to ensure the effective application of these identities in calculations one has to take care of the "gentle" form of expression

$$x^2 + xy + y^2 = a^2 R_n^2 + abR_n R_{n-1} + b^2 R_{n-1}^2 = a^2 R_n^2 + bR_{n-1} R_{n+1}. \tag{14}$$

By using the Binet formula for R_n (for simplicity of discussion let us assume that the characteristic polynomial of equation (13) possesses two different complex roots α and β), that is the formula

$$R_n = A\alpha^n + B\beta^n,$$

we find

$$\begin{aligned} a^2 R_n^2 + bR_{n-1} R_{n+1} &= (a^2 + b)R_n^2 + b(2AB(\alpha\beta)^n + (\alpha^2 + \beta^2)AB(\alpha\beta)^{n-1}) \\ &= (a^2 + b)R_n^2 + bAB(-2b + \alpha^2 + \beta^2)(-b)^{n-1} \\ &= (a^2 + b)R_n^2 - a^2 AB(-b)^n. \end{aligned} \tag{15}$$

Let us also notice that from the system of equations

$$\begin{cases} A + B = R_0, \\ \alpha A + \beta B = R_1, \end{cases}$$

we get the system

$$\begin{cases} (\beta - \alpha) B = R_1 - \alpha R_0, \\ (\alpha - \beta) A = R_1 - \beta R_0, \end{cases}$$

from which, by multiplying both equations, we obtain

$$AB = \frac{-(R_1^2 - aR_0 R_1 - bR_0^2)}{(\alpha - \beta)^2} = \frac{bR_0^2 + aR_0 R_1 - R_1^2}{a^2 + 4b}.$$

From formula (15) it results that if $a^2 + b = 0$ then formulae (1)-(3) are numerically effective, otherwise these identities do not represent any significant numerical value.

Of course one can also use the substitution of type $x = (a^2 + b)R_n$, $y = abR_{n-1}$ (then $x + y = R_{n+2}$) which, for instance, in case of sequences of Fibonacci or Lucas type generate the gentle form of expression $x^2 + xy + y^2$, however we will omit them here.

Remark 3. Additionally let us notice that identities of type (1) - (3) for the Fibonacci and Lucas polynomials, i.e. for polynomials

$$F_{n+1}(x) = x F_n(x) + F_{n-1}(x), \quad n \in \mathbb{N},$$

$$F_0(x) = 0, \quad F_1(x) = 1,$$

and

$$\begin{aligned} L_{n+1}(x) &= x L_n(x) + L_{n-1}(x), \quad n \in \mathbb{N}, \\ L_0(x) &= 2, \quad L_1(x) = x, \end{aligned}$$

respectively, where $x \in \mathbb{C}$, have also a trigonometric nature, like in Section 4, with respect to the following connections of $F_n(x)$ and $L_n(x)$ with the n -th Chebyshev polynomials $U_n(x)$ and $T_n(x)$ of the second and first kind, respectively (see for instance [2], [9]):

$$i^{n-1} F_n(x) = U_{n-1}\left(\frac{1}{2} i x\right),$$

where $U_{n-1}(\cos \varphi) = \frac{\sin(n\varphi)}{\sin \varphi}$, for $n = 1, 2, \dots$, and

$$i^n L_n(x) = 2 T_n\left(\frac{1}{2} i x\right),$$

where $T_n(\cos \varphi) = \cos(n\varphi)$, for $n = 1, 2, \dots$

References

- [1] S. Beslin, V. De Angelis, The minimal polynomials of $\sin(2\pi/p)$ and $\cos(2\pi/p)$, *Math. Magazine*, **77**, No. 2 (2004), 146-149.
- [2] V.E. Hoggat Jr., M. Bicknell, Roots of Fibonacci Polynomials, *Fibonacci Quart.*, **11** (1973), 271-274.
- [3] C.D. Lynd, Using difference equations to generalize results for periodic nested radicals, *Amer. Math. Monthly*, **121**, No. 1 (2014), 45-59, DOI: 10.4169/amer.math.monthly.121.01.045
- [4] X. Ma, A generalization of the Kummer identity and its application to Fibonacci-Lucas sequences, *Fibonacci Quart.* **36** (1998), 339-347.
- [5] S.G. Moreno, E.M. Garcia-Caballero, Chebyshev polynomials and nested square roots, *J. Math. Anal. Appl.*, **394**, No. 1 (2012), 61-73, DOI:10.1016/j.jmaa.2012.04.065
- [6] M.A. Nyblom, More Nested Square Roots of 2, *Amer. Math. Monthly*, **112**, No. 9 (2005), 822-825, DOI: 10.2307/30037604

- [7] A. P. Prudnikov, Y. A. Brychkov, O.I Marichev, *Integrals and series, Elementary functions*, translated from Russian and with a preface by N. M. Queen, Gordon & Breach Science Publishers, New York, USA (1986).
- [8] P. Ribenboim, *Fermat's Last Theorem for Amateurs*, Springer-Verlag New York Inc., USA (1999).
- [9] L.D. Servi, Nested square roots of 2, *Amer. Math. Monthly*, **110** (2003), 326-330, DOI: 10.2307/3647881
- [10] S. Vajda, *Fibonacci and Lucas Numbers, and the Golden Section, Theory and Application*, Dover Publications Inc., USA (2008).
- [11] W. Watkins, J. Zeitlin, The minimal polynomial of $\cos(2\pi/n)$, *Amer. Math. Monthly*, **100**, No. 5 (1993), 471-474.
- [12] R. Wituła, *Complex numbers, polynomials and fractial partial decompositions. Part I.*, Silesian University of Technology Press, Gliwice, Poland (2010).
- [13] R. Wituła, *On some applications of formulae for the sum of unimodular complex numbers*, Jacek Skalmierski Computer Studio, Gliwice, Poland (2011).
- [14] R. Wituła, E. Hetmaniok, D. Słota, Ma's identity and its applications, *Annales Universitatis Paedagogicae Cracoviensis*, **11** (2012), 43-51.
- [15] R. Wituła, E. Hetmaniok, A. Wróbel, J. Matlak, On the limits of quotients of polynomials in two variables, *J. Appl. Math. Comput. Mech.*, (in review).
- [16] R. Wituła, D. Słota, Cauchy, Ferrers-Jackson and Chebyshev polynomials and identities for the powers of elements of some conjugate recurrence sequences, *Central Eur. J. Math.*, **4** (2006), 531-546, DOI: 10.2478/s11533-006-0022-9

